Models according to electrode dimensions

CABX350 e
CABX600 e
CABX850 e
CABX1100  coceem
CABX1350 e
CABX1600  coeem
CABX1850  reesem
CABX2100  eoce=em
CABX2350  coezzem
CABX2600  coemsm
CABX2850  cocm=m

'CABX3100  recmem

Static Elimination Features
CABX850mm, air pressure: 0.3 MPa

*

Please state the length of the electric pole and type of
emitter needle required, along with the product model
when placing your order with Shishido Electrostatic.

Length and nozzle type
Lengths are 350-3100mm (250mm pitch)
Nozzle flow H or L
Emitter needle material W, S or G

Examples

Length 1850mm,
high flow tungsten emitter needle:
CABX1850-HW

Length 600mm,
low-flow silicon emitter needle:
CABX600-LS

CABX850mm, air pressure: 0.5 MPa

Lengths Weights
350mm 450g
600mm 650g
850mm 860g

1100mm 1060g

1350mm 1260g
1600mm 1470g
1850mm 1670g
2100mm 1880g
2350mm 2080g
2600mm 2290g

2850mm 25008

3100mm 2710g
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